~ ~The Pythagorean Theorem
and Its Converse
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You will use the Pythagorean &_s\s
Theorem and it's converse



Pythagorean Theorem
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A. Find x.
/
4

> X
17+ 7 = x>
(G +49=2°

Yragla

Y




_=-‘._,_,’.'L Jl l:_,_,'- E | 7 Find Missing Measures Using the Pythagorean

[ Theorem

B. Find x. X
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Common Pythagorean Triples
9 whole #'s tha Iorm R+ A's

3,4,5 | 5,12,13 | 8,15,17 | 7,24, 25




:E:Z:”:”EH:D Use a Pythagorean Triple

Use a Pythagorean triple to find x. Explain your
reasoning. 5 5,1,13
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Converse of the Pythagorean Theorem
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Pythagorean Inequalities

£ C= o> +b> Rgnr4d

If ¢ < a° + b then A ABCis acute. a /\
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If ¢ > a° + b? then A ABCis obtuse. \
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Determine whether each set of measures can
be the sides of a triangle. If so, classify the
triangle as acute, obtuse or right.
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Determine whether each set of measures can

be the sides of a triangle. If so, classify the
triangle as acute, obtuse or right.
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